GeaGebra Tutorial: Inequality Quiz
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No. Toolbar Command Remarks
Icon
1. _ Question type 1: ax>b or ax<b
type=RandomBetween(1,3 )
a=yP ( ) Question type 2: x/a>b or x/a<b
Question type 3: x+a>k or x+a<k
2. listl=Remove(Sequence(i,i |listl={-9,-8,-7,-6,-5,-4,
,—9,9),{0,1}) _31_21_11213141516171819}
3. s_0=RandomElement({-1,1})
4. S=If ( S_0== ’ ">" ’ "<" ) Hlde It.
5. SI=If(S_O==1’"<"’">") Hide it.
6. a=RandomElement (listl)
7. k=RandomElement (listl)
8. b=k*a
9. listPosition=Shuffle({(0, Hide it.
0),(5,0)})
10. _
11. A _
PY Q_( 0 ’ 0 )
12. marks=0
13. renamed as textMarks
ks = ks o
ABC | marks Absolute Position On Screen
See Figure 1.
14. lockMarks=false
15. ABC textYes="Correct!" Position: P- (0, 3)
Color: red
16. ABC textNo="Incorrect" Position: 9- (0, 3)
Color: red
17. Insert a button named buttonl

Captain: Next

On Click Script (see Figure 2):
UpdateConstruction()

SetValue(P,listPosition(1l))
SetValue(Q,listPosition(2))

SetValue(lockMarks, false)

SetVisibleInView(buttonl,1l,false)
SetVisibleInView(textYes,1l,false)
SetVisibleInView(textNo,1l,false)
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18. var=RandomElement ({"a","b Hide it.
n ’ "m" ’ "n" ’ "p" ’ "k" ’ "x" , "y"
})
19. ABC |[Ef(a==-1,"-",Text(a))| LaTex formula
s [0 renamed as textQ1
See Figure 3.
20. ABC |War [£(a>0,s,5")| LaTex formula
\frac{ B }{ @ } \\ renamed as textlcorrect
\vspace{30pt} See Figure 4.
var] If(a>0,s,s")| b/al
21. ABC |[var] I£(a>0,s"',s)] LaTex formula
\frac{ o }{ @ } \\ renamed as
\vspace{30pt}
var] I£(a>0,s",s)| /4]
22. ABC | \frac{ 1{ R} E LaTex formula
renamed as textQ2
23. ABC |far If(a>0,s,s")] (&) \\ LaTex formula
\vspace{30pt} renamed as text2correct
var [f(a>0,s,s")| k*a
24. ABC |fWar [£(a>0,s",s) K (@) \\ LaTex formula
\vspace{30pt} renamed as
var [f(a>0,s",s)| k*a
25. ABC |[var] T£(a>0,"+","=-")] LaTex formula
5] renamed as textQ3
26 ABC |§| |If(a>0 , n_n , vv+u )| LaTeX fOI'mU|a
\\ renamed as text3correct
\vspace{30pt}
8]
27 ABC El |If(a>0 , n_n , vv+n )| LaTeX fOI'mU|a

[abs (a)] \\

\vspace{30pt}

vag ) k=4

renamed as

See Figure 5.
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28. ABC \text{Solve } LaTex formula '
Tf(qtype==1, textol, qtype] renamed as textQuestion
9yp ! 1JLYP Serif font, Large size
F2,textQ2,text03)] \;.
Hide the previous 9 texts.
Set all texts to “Absolute Position On
Remark: This is equivalent to Screen”
\text{Solve }
IIf (gtype==1,textQl,If(qgty
pe==2,textQ2, text03))] \;.
See https://www.geogebra.org/manual/en/If Command .
29. textCorrect=If(gtype==1,t S_erlf font, Large size
_ Light yellow background
extlcorrect,qtype==2,text e
Position: P
2correct,text3correct)
On Click Script:
SetValue(marks, If(lockMarks
;marks,marks+1))
SetValue(lockMarks, true)
SetVisibleInView(textYes,1,
true)
SetVisibleInView(buttonl,1,
true)
30. textWrong=If (qtype==1,tex S_erlf font, Large size
o Light yellow background
tlwrong,qtype==2,text2wro Position: 0
ng, text3wrong) ]
On Click Script:
SetValue(marks, If(lockMarks
;marks,marks-1))
SetValue(lockMarks, true)
SetVisibleInView(textNo,1,t
rue)
SetVisibleInView(buttonl,1,
true)
31. Hide P, Q, grid and axes.
Fix all texts.
See Figure 6.

A more sophisticated version of this applet is available on https://ggbm.at/JWsky25C .
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¥ Graphics X » Algebra X
XIv[A~|[B] 1] Small ~||#]] List
listl = {-9, -8, -7, -6, -5, -4
listPosition = {(0, 0), (5, 0)}
0 Number
@ @
-1 0 1 2 3 4 5 6 7 8 9 a=-8
| | b =56
1 1100 @ Text k=-7
. marks = 0
Edit qtype = 2
2] ~ | marks = marks| so=1
Point
-3 | LaTeX formula \Symbols v\ \Objects v\ ®P=050
® Q=(0,0)
o[ [ [ [ [ | | Text
-4 — s = ||>||
Preview sl ="
marks = 0
_5 4 —
_6- —
;) Help OK Cancel
_7- =
Figure 1
GeoGebra
¥ Graphics & X P Algebra X
kv El—‘ Al o [ ) Preferences Value
A =7l & E @I ® Z arks = false
Y ToCNTTR T
v Button Basic Text Color Style Advanced BSEfiel | (-0, -8, -7, -6, -5, -4
0 F19, =6, =/, -0, =, —
//v By 0 .L tt’““o“l OJINE[[d& On Update Global JavaScript sition = {(0, 0), (5, 0)}
is
3 , 2| Sorvauelp Posman(y)
v 14— . . etValue[P,listPosition
Nul:::::s“ 3 SetValue[Q,listPosition(2)] >
b‘v 4 |SetValue[lockMarks,false] r
-2 T a 5 |SetVisibleInView[button1,1,false] 0
@ b 6 SetVisibleInView[textYes,1,false] 2
v k 7 |SetVisibleInView[textNo, 1,false]
@ S marks ’
7 gtype GeoGebra Script OK Cancel , 0)
4:!. _4 — 0 ’ 0)
YV - ll>ll
° -5 {ncor SR,
s'="<
ABC @® textMarks = "marks = 0"
M 6 @ textNo = "Incorrect"
|WI @ textYes = "Correct!"
-7

F o~ Ny

Input:

Figure 2
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X ‘Av ‘ ‘ B H I H Small  « H .\‘" Y Boolean Value
A lockMarks = false
. marks = 0 List
o~ 0 1 listl = {-9, -8, -7, -6, -5, -4
V -1 0 1 2 3 4 5 6 7 3 9 listPosition = {(0, 0), (5, 0)}
[ JoX ) Text Number
jﬁ -1 - — a=-8
Edit b =56
b’v Ifla==-1,"-"Text[a]] var s b k=-7
-2 — Fr marks = 0
@V qtype = 2
-3 = |LaTeX formulav‘ ‘S mbols v‘ - Objects v‘ m So=1
@V oY1 i ) Point
[l T T [ T 1 \ ®P=(50
_{_{u‘ 4 . I ® Q=(0,0)
v Preview Text
X —8m > 56 s=">"
T -
-5 Incorrec r, o o nen
ABC @® textMarks = "marks = 0"
N % | Ll @ textNo = "Incorrect”
ok @ textYes = "Correct!"
5 ® var="m"
d -7 | (D Help OK Cancel
(aq
?
25 | Input: s @
Figure 3
20ra
¥ Graphics X b Algebra X
: LI a ] Boolean Value
A lockMarks = false
* marks = 0 List
0 1 listl = {-9, -8, -7, -6, -5, -
/'/V Y 0 5 2 2 ? 3 7 R a listPosition = {(5, 0), (0, 0)]
A/ 2.8, lext Number
v 14 =2k < g4 a=-2
dit b-6
b. var Iffa> 0, s, sl \frac{ b ¥ a }\\ - -3
> 2 | \vspace{30pt} marks = 0
@V var Iffa>0,s,s']T b/a qtype = 1
3 | 4 s, =-1
@v |LaTeX formula~| | Symbols~ | Objects ~ = Point
® P=(50
x{ﬂ. 4 |- | " ‘ ‘ ‘ ‘ ‘ ‘ ‘ ® Q=(0,0)
N VP = ~ Text
° review _u_n
xv _s Incorrect. 6 e "< i
k>— il
ABC -2 “" > iz
-6 -
(oK k>-3 o
- textlcorrect = k > -3”
pa’
4 _? I llk < 6
c ) Help OK Cance B =
? T ————
5 | Input: : @

Figure 4
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Figure 5

¥ Graphics X P Algebra X
' D 1) ‘C:' ‘ textlcorrect = k > -3”
oAv 1 “g < _iz
marks = 0 [ ]
//(v 0 ’ textlwrong = k < -3”
A/ 0 1 2 3 5 13 7 8 9 “k > -3 (
_ 6 6 e
v 2k <6 k> ) k< D) text2correct = k > 6"
bv -1 “k < _3(_2)
k> —3 k<-3 ®
@ text2wrong = k < 6”
v -2 . “k < -34:
v k> —3(-2 k< -3(-2) ®
®v 5 -3 (-2) text3correct = k < -1” [
& -3 k>6 k<6 “k>-342
v [ ]
. text3wrong = k > -1"
N 41 h—2<-3 k< =342 k>-3+2 Next ® textMarks = "marks = 0"
k> 1 € @ textNo = "Incorrect"
ABCv k<-—1 ® textQl = “-2k < 6”
oK _g Incorrect Correct! ® textQ2 = "—LZ <-3"
po) @ textQ3 = “k-2 < -3
‘o 6 ® textYes = "Correct!"
2 & var = "k"
| Input: s @

[ JON } inequality new.ggb

¥ Graphics X ) Algebra X
<

o [LTE] a[c~] d

o text2wrong = p <
Y p marks = 1 LA
//V SOlve __ < 8 . text3correct = p <
e b

text3wrong = p >

"

Figure 6

D, P
_ — [ ]

@v p > 8( 1) p < 8( 1) textCorrect = p >
@ textMarks = "marks

@V p > 8 p< 8 @ textNo = "Incorrect ¢
textQl = “-p < -8
<, textQ2 = P <
& C t| textQ3 = “p-1 <
ARG orrect: ® textQuestion = “S.
a=2\7 “F <
_':-; textWrong = p < -
< @ textYes = "Correct!'

; var = "p"

| Input: =




